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BBB-19080002040200] 1 [Contd...
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(3) dotetl Qe YR A ASL ..., 3. 8,000
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ENGLISH VERSION

Instructions :

(1) All questions carry equal marks.

(2) Attempt any four questions.

1 The following i1s the Balance Sheet of Sanyam Ltd. as on

31-12-2020 :
Liabilities Rs. | Assets Rs.
Share capital : Goodwill 10,000
7,000 Equity shares Building (at cost
of Rs. 100 each 7,00,000| less depreciation) 1,00,000
General reserve 1,60,500 | Plant & machinery
6% Debentures 40,000| (at cost less
Bank loan depreciation) 2,00,000
(short term) 35,000 | Patents (less
Sundry creditors 60,000 | written off) 100
Unclaimed dividend 3,000 | Investments :
Provision for (1) Quoted (Market
taxation 7,000 value
Rs. 15,000) 10,000
(2) Trade
investments 20,000
(3) Unquoted 10,000
BBB-19080002040200] 9 [Contd...




(4) Shares in
subsidiary co. 1,20,000
Stocks and stores 1,50,000
Sundry debtors 3,00,000
Cash in hand and
at bank 30,000
Bills receivable 50,000
Preliminary exp. 5,400
10,05,500 10,05,500

Additional Informations :

1)

2)
®3)

(4)

(®)
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The current replacement costs of building and plant
and machinery are Rs. 1,50,000 and Rs. 3,00,000

respectively.
The value of shares in subsidiary co. is Rs. 1,50,000.

The trade investments are valued at Rs. 25,000.
Unquoted investments at Rs. 15,000 and quoted
investments are not related with normal activities of

the company.

The value of raw materials included in the figures of
stocks and stores has shown an increase of Rs. 50,000.
However, Rs. 10,000 worth stocks are obsolete and are

to be written off.

The patents have a market value of Rs. 10,000 which
represent a conservative estimate of the price which

can be obtained if sold at present.



(6)

(7)

@

)

(10)

(11)

12)
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The profit of the year is 1,50,000.

If the depreciation is charged on the replacement cost
basis then it will be increased by Rs. 10,000 for
building, Rs. 15,000 for plant and machinery and

Rs. 2,000 for patents.

The sales made in previous year were Rs. 1,00,000 in
which estimated profit is Rs. 11,000. This figure is

included in the profit given.

The profit on completed contract is Rs. 3,000.
This figure has been ignored while calculating the

net profit.

The amount of goodwill written off during the year was

Rs. 2,000.

Income from quoted investments of Rs. 1,000 has been

included in the profit of the year.

There was a loss on sale of assets of Rs. 500 which
1s charged to Profit and Loss A/c of the year.

From the above mentioned informations, calculate :
(A) Gross Capital Employed

(B) Net Capital Employed

(C) Profit for Management Planning and Control

(D) Return on Capital Employed.



2 From the following informations of Saloni

Company Ltd.,

calculate (A) profit on Gross Capital Employed and (B) on

Net Capital Employed :

Balance Sheet as on 31¢% December, 2020

Particulars Rs. Rs.
- Fixed Assets :
Building at cost 3,00,000
Plant and Machinery
at cost 5,10,000
Less : Depreciation
written off 1,50,000 3,60,000 | 6,60,000
- Investments :
Out side the business 40,000
Inside the associated
companies 10,000 50,000
- Current Assets :
Stock 90,000
Debtors 80,000
Less : Provision for
bad debts 2,000 78,000
Cash and Bank 2,000
1,70,000
Preliminary exp. 10,000
1,80,000
Less : Current liabilities
Creditors 70,000
Taxation 30,000 -1,00,000 80,000
Total 7,90,000
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- Authorised and Issued
Share capital :
20,000 12% preference
shares of Rs. 10 each 2,00,000

30,000 Equity shares of

Rs. 10 each 3,00,000 [ 5,00,000
- Reserve :
Security premium 50,000
General reserve 1,00,000
Profit and Loss Alc 70,000 1,70,000 | 2,20,000
- 9% Debentures 70,000
Total 7,90,000

Notes on Balance Sheet :

(1) Additions to original costs of assets necessary to convert

them to replacement costs :
Building ......c..coovvveeiiiiieenn. Rs. 50,000
Plant and Machinery .......... Rs. 1,10,000

(2) Cumulative depreciation on replacement cost of plant

and machinery would amount to Rs. 1,86,000.
(3) Obsolete stock amount to Rs. 2,000.
Notes on Profit and Loss A/lc :

(1) The profit as per Profit and Loss A/c for the year 2020
1s Rs. 1,06,200.

(2) Depreciation on plant and machinery charged was
Rs. 52,000, depreciation based on replacement cost

for the year is ascertained as Rs. 62,000.
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(3) Profit on sales of machinery ........... Rs. 8,000

Recovery of bad debts....................... Rs. 4,000

Goodwill written off ........ccoeoveeeinnnnien. Rs. 6,000

Income from investment out

side of the business ......cccccoeevennenn... Rs. 4,000

3 (A) Information regarding workers of GMH company are
under :
(1) No. of workers as on 1-3-2021 ........ccccevvvunnnennnn. 550
(2) No. of workers as on 31-3-2021 ........ccovvveerrvnnnnn... ?
(3) No. of workers resigned........cccooeevvvueeiiiiineenennnnn. 55
(4) No. of workers dismissed........ccccoovvveeiiiiinneeennnnnn. 22
(5) No. of workers retired........ccccoeeviviiiiieiiiiiieeeeennn. 38
(6) No. of workers newly appointed........................ 315

(Out of which 250 workers were taken under

expansion plan)

Labour turnover rate as per flux method .............. 30%

From the above informations, find out :

(1)
(2)
3)
(4)

No. of workers as on 31-3-2021.
Labour turnover rate as per separation method.
Labour turnover rate as per Replacement method.

Equivalent annual labour turnover rate.

(B) Calculate the number of employees in the beginning

and at the end of the year from the following

information :

(1)
(2)
3)

Labour turnover rate = 3%
No. of employees left during the year = 12

No. of employees at the end were 100 more than

number of employees in the beginning.
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4 (A) State the causes of labour turnover.

(B) Explain : Disadvantages of labour turnover.

5 The budgeted output of a factory specialising in the production
of a single product at the optimum capacity of 6,400 units per

annum amounts to Rs. 1,76,048 as detailed below :

Particulars Rs. Rs.

Fixed exp. : 20,688

Variable exp. :

Direct labour 1,02,400
Direct material 49,280
Repairs etc. 1,700
Power 1,440
Miscellaneous 540 1,55,360

1,76,048

The company decides to have a flexible budget with a
production target of 3,200 and 4,800 units. (The actual quantity
proposed to be produced being left to a later date before
commencement of the budget period.)

Prepare a flexible budget for production levels of 50% and
75%. Assuming, selling price per unit is maintained at Rs. 40
as at present, indicate the effect on net profit.

Administration, selling and distribution expenses continue
at Rs. 3,600.
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6 A

Following data relating to Vihan Ltd. :

Particulars X Y

- Selling units (selling price is

Rs. 200 per unit) 12,000 12,000
- Fixed overheads 7,00,000 5,00,000
- Profit per annum (Estimated) 5,00,000 7,00,000

B)

Calculate :

(1) Profit volume ratio

(2) Break even point.

(3) The level of sales units at which both the product X

and Y will earn the same profit, then how many units

are sold of product X and Y.
If,
Fixed expenses ........ Rs. 8,250
Break even point....Rs. 30,000
Variable expenses ...Rs. 36,250

Find :
(1) Sales
(2) Profit

(3) Profit volume ratio.

7 Discuss the system of Indian Government Accounting.

8 Write short notes :

(1)
2)

Target costing

Benefits of Management Control Strategy.
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